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Number of counts from all target components for helicity L:
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Symbols: 15 = "N; p="H; L(R) = +(-); p(N) = proton in N; ®= flux factor;
P, = Nuclear, proton target polarization; P, = beam polarization; 4, = Asymmetry.
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The L-R counts difference simplifies to:
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After factoring 0,4, out
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During a given run, the polarization changes were small, so:
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The sum of counts is:
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The raw asymmetry and the dilution factor then are:
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and the corrected proton asymmetry in "NH, is:
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If the liquid He in the cell and outside the cell are represented by N5, and N, and
the fraction of ammonia in the cell is p;:

-1
Ny Oy, . 1 N,o,

l& +1+(i_1)

3 op pf Npop pf Npop

7=



